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G TArz]ZF - 1970: [ ~1997: ][] (111& 7))
Fetge] WEE B ARLRAS
GDP g}2] A 2}AFRF A
o EEW AU EE ==
-4 -2 -1 0="y, +1 +2 +3 +4
G D 2, 1,00 .20 0,32 051 068 1,00 0,68 0.51 .33 .20
A 1, 0. 48 .01 0,16 0,30 050 0,70 0 BB 0.59 .41 .27
= 8. 3.65 .12 0,33 0,53 067 0,70 0,62 0.51 .40 .20
- 7. 3. 27 .27 0,37 0,44 0,43 0,35 0. 24 0,08 J11 .25
&= 5. 2. 72 .02 0,18 .44 0 B5 0,BE 0,58 0,51 .29 .22
2, 1.29 L40 0,37 0,31 0,19 0,12 0,00 0.13 .22 .37
0, 0,40 0.15 0,20 0,16 0,15 0,03 0,05 0,02 .02 .05
rE5a) 1, 0. .72 0.14 0,17 0,23 0,29 0,35 0, 30 0, 27 .15 .00
L= B 2 .56 0.3 0,41 050 052 0,48 0 36 .25 .08 .03




